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CALL OLAPX PX=x PY=y PR=r PZ=z Pl=i PQ=q (PK=k PP=p PF=f PFA=fa PFB=fb PS=s) -> 0K

CALL OLAPX Q5 PX=x PY=y PR=r PZ=z Pl=i PQ=q (PK=k PP=p PF=f PFA=fa PFB=fb PS=s) -> NG(
)



CALL OLPEX PX=x PY=y PR=r PZ=z Pl=i PQ=q (PJ=j PK=k PA=a PB=b PP=p PF=f PFA=fa PFB=fb PFC=fc PS=
s) (PM=52 M3/4 M7/8/12)

CALL OLPEY PX=x PY=y PR=r PZ=z Pl=i PQ=q (PJ=j PK=k PA=a PB=b PP=p PF=f PFA=fa PFB=fb PFC=fc PS=
s) (PM=52 M3/4 M7/8/12)
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OLPEX OLPEY

CALL OLAPX PX=x PY=y PR=r PZ=z Pl=i PQ=q (PK=k PP=p PF=f PFA=fa PFB=fb PS=s)

G11* Xx Yy Rr Zz 1i Qq (Kk Pp Ff FA=fa FB=fb Ss)

) ( 15.0)

OEX01

G56 H10 S2000

GO X20 Y20

Z100 M3

G41 D10

CALL OLAPX PX=20 PY=0 PR=2 PZ=-100 P1=60 PK=.5 PP=1 PF=1000
G40

GO Z10

GO X80 Y20

G41 D10

CALL OLAPY PX=100 PY=20 PR=2 PZ=-100 PI1=60 PK=.5 PP=1 PF=1000
G40

GO 710

GO X80 Y80

G41 D10

CALL OLAPX PX=80 PY=100 PR=2 PZ=-100 PI1=-60 PK=.5 PP=1 PF=1000
G40

GO Z10

GO X20 Y80

G41 D10

CALL OLAPX PX=0 PY=80 PR=2 PZ=-100 PI=-60 PK=.5 PP=1 PF=1000
G40

GO 7100 M5

MO2
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